



Nome: _____

Data: _____ Punteggio: _____

$$(4 + \frac{2}{3})^2 + \frac{3}{5} \times 2^2 + \frac{1}{3} =$$

$$(\frac{1}{2} + \frac{1}{2})^2 - \frac{3}{2}(\frac{1}{6} + (\frac{1}{2})^2) =$$

$$(2 + \frac{2}{3})^2 + \frac{1}{2} - 2^2 - \frac{1}{2} =$$

$$((\frac{1}{3})^2 - \frac{2}{3}) \times \frac{1}{5} + (\frac{2}{3} + \frac{2}{3})^2 =$$

$$((\frac{1}{3})^2 + \frac{3}{4}) \times \frac{1}{3} - (\frac{1}{2} + \frac{1}{3})^2 =$$

$$(\frac{3}{4} + \frac{1}{2})^2 + \frac{1}{2}(\frac{3}{2} + \frac{1}{2}) =$$

$$((\frac{1}{4})^2 + \frac{3}{4}) \times \frac{3}{4} + (\frac{1}{3} - \frac{1}{3})^2 =$$

$$(\frac{2}{5} + \frac{1}{3})^2 - \frac{1}{3}(\frac{3}{2} - \frac{3}{4}) =$$

$$(5 - \frac{1}{3})^2 + \frac{1}{3} + \frac{1}{2} \times 2^2 =$$

$$(4 - \frac{1}{3})^2 - \frac{3}{4} \times 4^2 \times \frac{2}{5} =$$



Nome: _____

Data: _____ Punteggio: _____

$$(4 + \frac{2}{3})^2 + \frac{3}{5} \times 2^2 + \frac{1}{3} = \frac{1103}{45} = 24\frac{23}{45}$$

$$(\frac{1}{2} + \frac{1}{2})^2 - \frac{3}{2}(\frac{1}{6} + (\frac{1}{2})^2) = \frac{3}{8}$$

$$(2 + \frac{2}{3})^2 + \frac{1}{2} - 2^2 - \frac{1}{2} = \frac{28}{9} = 3\frac{1}{9}$$

$$((\frac{1}{3})^2 - \frac{2}{3}) \times \frac{1}{5} + (\frac{2}{3} + \frac{2}{3})^2 = \frac{5}{3} = 1\frac{2}{3}$$

$$((\frac{1}{3})^2 + \frac{3}{4}) \times \frac{1}{3} - (\frac{1}{2} + \frac{1}{3})^2 = (-\frac{11}{27})$$

$$(\frac{3}{4} + \frac{1}{2})^2 + \frac{1}{2}(\frac{3}{2} + \frac{1}{2}) = \frac{41}{16} = 2\frac{9}{16}$$

$$((\frac{1}{4})^2 + \frac{3}{4}) \times \frac{3}{4} + (\frac{1}{3} - \frac{1}{3})^2 = \frac{39}{64}$$

$$(\frac{2}{5} + \frac{1}{3})^2 - \frac{1}{3}(\frac{3}{2} - \frac{3}{4}) = \frac{259}{900}$$

$$(5 - \frac{1}{3})^2 + \frac{1}{3} + \frac{1}{2} \times 2^2 = \frac{217}{9} = 24\frac{1}{9}$$

$$(4 - \frac{1}{3})^2 - \frac{3}{4} \times 4^2 \times \frac{2}{5} = \frac{389}{45} = 8\frac{29}{45}$$